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Qé{ Ffoblam:

Id: we ossume Az iS a feal matrix, and Vi IS @ Omplex eygenvector
of A with amplec eenvese 31 Yh= Vi, 2= >, where Vi ond 2,
are the CorfesFonoUt? Omplew. conjuqoze a\-r Y, and 3, Y@fecciuey_
Show that  AVs =20, (%

£ Method, | :
Weossume thatt Ji=a+bi, V=pP+§i, nhere a.be€IR, P.] € IR

Since Y, is on eigenvectoy Uﬁ A Weth eifenvalue i,
A = 21
= A (PHYL) =catbi) (priid
= Ap+ AfL =(ada—-b8)+Ca.z +bd))i

= (AP= a,d)—bz
iAg = a%-f—l?j)
= LHS o\]c (%) = A(p-90) = AP - A1
= a\,f—bg—caz-i-bd:)-i
= o\,f~bg~azo —bf:‘/
RHS of (%)= (a-br)C Pge)
= ap- by —agi ~bpi
:L}'LSUC (%)
= A% ——.2219;_ L
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L Method 2.:
P IS a Teal matrix =S A = A .

Since B, is on eifenvectoy 3‘ A Woth eifenvalue 1,
AWI = 2”}1
Toking Complex. Conjugate on both Sides to §eb

——

> AW =20



= AU =2, (05 the complex Conjug atie c\,f prodecct
= the product tf Complex oory‘u&]oube.)
= A% =22?9;G



